sin{71) = Y2

—

lf"l' fr et Z\x

Swa: o

SIn(2x)-cosx=6
281 cos x~c05X 20



4. Solve 4 sin®* x = 1 algebraically over the

domain —180° < x < 180°. QI*E Q ﬂ-*ﬁ

L
$in~x= L Siny= 1 Stinxz-L
Y X p A v
sSinx - | Y=
\E ) \Iq 5 3B, "f‘{z A
330
S\ny = I |

° X = 30 | 5¢
_1-3[;,*36



onlv. Then, solve algebraically for

< X < 27. X#OW
a) cos 2x — 3 sin x = 2 KH/

éz cos:x—3sinx—3=0
)f3cscx —sinx=2
. 0z (‘311"!\: -+3)(smx-:)

d) tan*x+ 2 =10
3CSCR-SInXz 7 SINX=+3  S1axz/

A
3 _ simx=2 Noseln f’

SN X=3 &
muld eacir ey SINY
3_ S]ﬂm‘f: 231}"‘\‘;{

Oz Sm'x +Zsmx-2

3. Rewrite each equation in terms of sine ( NP\, .
¢ SMXED



Proving Trig Identities — Day 3

Examples: Id?“‘h‘b‘& & be.
¥ bcd
1. Prove: 1-tanxtany = cos(x +) Qﬁb_
COS X COS )
Wﬂn%
C o5% oY

IM(gl - Siny suy
| Cog £¢515\ cosy COSj

| — tanx 'hmﬁ



SIN 3X —Sin X
2. Prove: = tanx

COS3X +COSX

LHS.
S (Zx+%) -8 mx
Cos{ AxX+X )+ casx

(&27‘3(—&5}( ~+3MXCceS§Zx ~ Sinx
__-__-———
Cosdxcosx —Sm2xsinx +Cos)

(QJINLGS‘JQCGHC + Simq(l ~a sn';L)tB ~SInX
m(‘ﬂf‘Y"'\ codx —-(Zslnxcﬁsﬂ sinx 4 CoSK




(QJIchosx‘)tmx + sinx (-2 snilﬂ -SinX
__—-_-—.-______-_
{3('&51‘%'"'3 CoSX --(?.Slmccosx\ sinx  + (@SK

4
QSIH 2% ¥ ~+ 'y --asgjngx ~9)

Aees'x~ Cos%e ~ <~ Z87Rx cosx ¥ Cp%R

ASIN%Ces X ~2 gindy
\-——_\M

%
d oy X~ A 8N x COSX

Qsmv (¢ 5% —gin

Q cosx { ¢ 05TK~_SINx)

('_/
M = den = RAS w-‘*"”




